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Inflation, deflation and economic policy

Study Extracts D, E and F and then answer all parts of Context 2 which follow

Extract D
Figure 3: CPI inflation rates (%) for Japan Figure 4: Real GDP growth rates (%) for
and the UK, 2010 to 2015 Japan and the UK, 2010 to 2015

Year | Japan UK

2010 0.72 329

2011 0.28 448

2012 0.03 2383

2013 036 256

2014 275 146

2015 0.80 0.05

2010 201120122013 2014 2015
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Source: Oficial Statistics
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Extract E: Good and bad deflation

Deflation is bad when it is the result of falling aggregate demand. Consumers buy fewer goods and 1
services and firms cut prices whilst consumption and investment decisions are delayed. This can

lead to worsening company profits, cost cutting and job losses. Less spending damages econornic
growth and could lead to a deflationary spiral. However, this has not been the UK's recent

experience. A glut in the supply of oil has driven down its price. This has had a positive effecton 5
most businesses who face lower costs. In the retail sector, in particular, prices are lower because
goods are cheaper to manufacture and transport. Businesses can also spend more on investment,
hiring staff or offering pay rises. This has led to pay growth and productivity gains in the private

sector after years of stagnation. Improvements in productivity on the supply side of the economy

could actually lead to more deflation but this could be viewed as good deflation 10

Professor Steve Keen believes even mild deflation is bad news. If the government continues with its
programme of austerity, he is convinced the UK is heading for bad defiation. *Deflation is only

benign, or even beneficial, in a world in which no one has any debt. Bizarrely, this is the world that
conventional economists actually imagine we live in, since their models have ignored debt

Deflation increases the burden of people’s debt, which is what happened in the 1930s, during the 15
Great Depression.”

The most immediate implication of continued deflation is that it makes a rise in interest rates less

likely and, in the short term, this is good news for borrowers, but not for savers. This should also

allow more time for the econormy to recover, with low interest rates helping consumers and firms to
access cheaper credit 20

Source: News repots, 2016
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Extract F: The Japanese problem

If the UK wishes to see another econorny's experience of when deflation turns bad, then it only 1
needs to look at Japan. Over the last two decades, Japan has used a variety of policies in an

attempt to overcome deflation. For almost 20 years, the Bank of Japan's main interest rate has
hovered around 0% and at times been negative. Japan has embarked on several fiscal stimulus
programmes, although with a debt to GDP ratio of 245% in 2015, some see this as a worry. 5
Furthermore, the Bank of Japan is currently carrying out quantitative easing equivalent to

approximately £500bn per year. So far, the Japanese economy has not escaped from the risk of
deflation

So what can the UK learn from Japan? For much of 2015, CPl inflation in the UK was at, or very
close to, 0%. Consumer spending is fairly robust t the moment but if econormic agents anticipate 10
falling prices, they may begin to factor this into their expectations. This could lead to bad deflation
which can be very difficult to tackle effectively

In recenttimes, the UK has arguably seen a stronger recovery than many other developed
economies, although there is uncertainty over what should be done to maintain this in the future

After the financial crisis of 2007/08, UK Bank Rate was reducedto an historic low of 0.5%, and 15
although it has since been cut to 0.25%, there is lttle scope to reduce it much further. The Bank of
England has also used quantitative easing to try to stimulate the econormy. However, the results of

this are debatable. In terms of fiscal policy, the current government appears to be determined to
continue with its austerity programme. What is not clear is what should be done if low inflation

tums to bad deflation 20

Source: News reports, 2016
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Using the data in Extract D (Figure 3), calculate, to two decimal places, the mean
inflation rate for Japan from 2010 to 2015
[2 marks]

Explain how the data in Extract D (Figure 4) show that Japan has been less
successful than the UK in achieving a stable rate of economic growth
[4 marks]

Extract E (lines 9-10) states ‘Improvements in productivity on the supply side ofthe
economy could actually lead to more deflation.”

With the help of a diagram, explain how improvements in productivity could cause
deflation
[9 marks]

Extract F (lines 19-20) states "What is not clear is what should be done if low inflation
turns to bad deflation

Using the data in the extracts and your knowledge of econormics, evaluate the view
that monetary policy is the most effective way of tackling deflation in developed
economies stich as the UK and Japan

[25 marks]
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EITHER
Essay 1

Between 2011 and 2016, UK unemployment fell from a high of 8 5% to 4.8%. Some argue that
govemment attempts to reduce unemployment inevitably lead to trade-offs with other
macroeconomic policy objectives

[0]9]  Explain how government policies can reduce the natural rate of unemploymert

115 marks]

[1T07] Discuss the view that falling unemployment will inevitably lead to trade-offs with other
macroeconomic policy objectives

[25 marks]




